# 130. On Linear Functionals of $W^{*}$-algebras 

By Shôichirô Sakai<br>Mathematical Institute, Tôhoku University, Sendai, Japan<br>(Comm. by K. Kunugi, m.J.A., Nov. 12, 1958)

1. We shall explain the background of our study.

Let $B$ be the $W^{*}$-algebra of all bounded operators on a Hilbert space $H$, then $\sigma$-weakly continuous linear functionals on $B$ are identified with operators of trace class $u$ in $H$ as follows: $\psi_{u}(\alpha)=\operatorname{Tr}(u a)$ ( $a \varepsilon B$ ). Self-adjoint (resp. positive) operators $u$ of trace class correspond exactly to $\sigma$-weakly continuous self-adjoint (resp. positive) linear functionals $\psi_{u}$ and the trace-norm $\|u\|_{1}=\operatorname{Tr}\left(\left(u^{*} u\right)^{1 / 2}\right)$ of $u$ is equal to the norm $\left\|\psi_{u}\right\|$ of corresponding functionals. If $u$ is self-adjoint, it can be written under $u=v-w$, where $v$ and $w$ are its positive and negative parts, and $\|u\|_{1}=\|v\|_{1}+\|w\|_{1}$. Besides, if we have $u=v^{\prime}-w^{\prime}$, where $v^{\prime}, w^{\prime} \geqq 0$ and $\|u\|_{1}=\left\|v^{\prime}\right\|_{1}+\left\|w^{\prime}\right\|_{1}$, then we can easily show that $v=v^{\prime}$ and $w=w^{\prime}$. Namely: A $\sigma$-weakly continuous self-adjoint functional $\psi_{u}$ on $B$ can be written under $\psi_{u}=\psi_{v}-\psi_{w}$, where $\psi_{v}, \psi_{w} \geqq 0$ such that $\left\|\psi_{u}\right\|=\left\|\psi_{v}\right\|+\left\|\psi_{w}\right\|$, and such decomposition is unique. Grothendieck [3] has shown that this fact holds also valid in general $W^{*}$-algebras.

On the other hand, we know a stronger fact in $B$ as follows: Let $t$ be an operator of trace class, $t=v|t|\left(|t|=\left(t^{*} t\right)^{1 / 2}\right)$ its polar decomposition, then $\|t\|_{1}=\||t|\|_{1}$ and $v$ is a partially isometric operator ( $\varepsilon B$ ) having the range projection of $|t|$ as the initial projection. Now we consider the functional $\psi_{t}$, and denote $\psi_{t}(x y)=\hat{Y} \psi_{t}(x)$ and $\psi_{t}(y x)=\hat{\hat{Y}} \psi_{t}(x)$ for $x, y \in B$, then since $\psi_{t}(x y)=\operatorname{Tr}(t x y)=\operatorname{Tr}(y t x)$, the above fact implies: $\psi_{t}=\hat{V} \psi_{|t|},\left\|\psi_{t}\right\|=\left\|\psi_{|t|}\right\|$ and $\hat{V}$ is a partially isometric operator having the support $S\left(\psi_{|t|}\right)$ of $\psi_{|t|}$ as the initial projection, where for $\psi \geqq 0$, $S(\psi)=I-\sup e[e$, projections such that $\psi(e)=0]$.

Moreover we can easily show that such decomposition is unique, and call this decomposition the polar decomposition of functionals.

Our purpose of this note is to show that the polar decomposition of functionals is also valid in general $W^{*}$-algebras.
2. We shall state

Theorem 1. Suppose a $W^{*}$-algebra $M$ realized as a $W^{*}$-subalgebra of the algebra $B$ on a Hilbert space $H$, then $a$-weakly continuous linear functional $\psi$ on $M$ is the restriction of a $\sigma$-weakly continuous linear functional of the same norm on $B$.

Proof. It is enough to suppose $\|\psi\|=1$. Let $S$ be the unit sphere of $M$ and $F=\{a| | \psi(a) \mid=1, a \varepsilon S\}$, then $F$ is a non-void, convex, $\sigma$ -
weakly compact set by the $\sigma$-weak compactness of $S$. Let $a$ be an extreme point of $F$, then $a$ is also extreme in $S$; put $u=\overline{\psi(\alpha)} a$, then $u$ is extreme in $S$ and $\psi(u)=1$. By a theorem of Kadison [2], an extreme point $u$ is a partially isometric operator such that
$\left(I-u u^{*}\right) M\left(I-u^{*} u\right)=(0)$. Therefore by the theorem of comparability, there is a central projection $z$ of $M$ such that $I-u u^{*} \leqq z$ and $I-u^{*} u \leqq I-z$; hence $u u^{*} \geqq I-z$ and $u^{*} u \geqq z$, so that $u(I-z) u^{*}(I-z)=I-z$ and $u^{*} z u z=z$. Since $\psi(x)=\psi(x z)+\psi(x(I-z))$, if it is shown that the restrictions $\psi_{1}$ and $\psi_{2}$ of $\psi$ on $M z$ and $M(I-z)$ are extendable to functionals of same norm on $z B z$ and $(I-z) B(I-z)$ respectively, $\psi$ is extendable to a functional $\tilde{\psi}$ of same norm on $z B z+(I-z) B(I-z)$; then, define $\tilde{\psi}(x)=0$ on $(I-z) B z+z B(I-z), \widetilde{\psi}$ is extendable to a functional of same norm on $B$. Since $\psi_{1}(u z)=\left\|\psi_{1}\right\|$ and so $\hat{U} \hat{Z} \psi_{1}(I)=\left\|\psi_{1}\right\|$ and $\left\|\hat{U} \psi_{1}\right\| \leqq$ $\|u\|_{\infty}\left\|\psi_{1}\right\|=\left\|\psi_{1}\right\|$, where $\|\cdot\|_{\infty}$ is the uniform norm of an operator, by the well-known theorem $\hat{U} \hat{Z} \psi_{1}$ is positive; hence by the result of Dixmier [1] $\hat{U} \hat{Z} \psi_{1}$ is extendable to a positive normal functional $\xi_{1}$ of same norm on $z B z$. Then
$\hat{Z} \hat{U}^{*} \xi_{1}(x)=\xi_{1}\left(x z u^{*}\right)=\hat{U} \hat{Z} \psi_{1}\left(x z u^{*}\right)=\psi_{1}\left(x z u^{*} u z\right)=\psi_{1}(x z)=\psi_{1}(x)$ for $x \varepsilon M z$; hence $\hat{Z} \hat{U}^{*} \xi_{1}$ satisfies our demand. Analogously $(I \widehat{-} Z) \hat{U} \psi_{2}$ is positive and so it is extendable to a positive normal functional $\xi_{2}$ of same norm on $(I-z) B(I-z)$.

Then

$$
\begin{aligned}
\hat{\hat{U}} *(I \widehat{=} Z) \xi_{2}(x) & =\xi_{2}\left((I-z) u^{*} z\right)=(I-Z) \hat{\hat{U}} \psi_{2}\left((I-z) u^{*} x\right) \\
& =\psi_{2}\left(u(I-z)(I-z) u^{*} x\right)=\psi_{2}(x) \text { for } x \varepsilon M(I-z) ;
\end{aligned}
$$

hence $\hat{\hat{U}} *(I \approx Z) \xi_{2}$ satisfies our demand, this completes the proof.
Theorem 2. Let $M$ be $a W^{*}$-algebra and $\psi a \sigma$-weakly continuous linear functional on $M$, then it can be written under $\psi=\hat{V} \varphi$, where $\varphi$ is a positive normal functional, $\|\psi\|=\|\varphi\|$ and $\hat{V}$ is a partially isometric operator of $M$ having the support $S(\varphi)$ of $\varphi$ as the initial projection, where $S(\varphi)=I-\sup e[e$, projection of $M$ such that $\varphi(e)=0]$. Moreover, such decomposition is unique.

We shall call the above $\varphi$ the absolute value of $\psi$ and denote it by $|\psi|$ [cf. 4].

Proof. It is enough to suppose $\|\psi\|=1$. Let $u$ be a partially isometric operator of $M$ such that $\psi(u)=1$, then $\hat{U} \psi$ is positive. Moreover, since $u u^{*} u=u, \psi(u)=\psi\left(u u^{*} u\right)=\hat{U} \psi\left(u u^{*}\right)=1$. Therefore $u u^{*} \geqq S(\hat{U} \psi)$. Put $w=u^{*} S(\hat{U} \psi)$, then $w^{*} w=S(\hat{U} \psi)$; hence $w$ is a partially isometric operator having $S(\hat{U} \psi)$ as the initial projection. Moreover $\hat{U} \psi(x)=\hat{U} \psi(x S(\hat{U} \psi))=\psi(x S(\hat{U} \psi) u)=\psi\left(x w^{*}\right)=\hat{W}^{*} \psi(x)$ for
all $x \in M$; hence $\hat{U} \psi=\hat{W}^{*} \psi$.
Now we show
Lemma. Let $p$ and $q$ be projections such that $p=w w^{*}$ and $q=w^{*} w$, then $\psi(x)=\psi(x p)$ and $\psi(x)=\psi(q x)$ for all $x \in M$.

Proof. We can suppose $M$ realized as a $W^{*}$-subalgebra of $B$ on a Hilbert space $H$. By Theorem 1, $\psi$ is the restriction of a $\sigma$-weakly continuous linear functional $\tilde{\psi}$ of same norm on $B$. Then

$$
\tilde{\psi}\left(w^{*}\right)=\psi\left(w^{*}\right)=1 \text { and } w^{*} p=w^{*}, q w^{*}=w^{*} .
$$

Therefore, put $\widetilde{\psi}(x)=\operatorname{Tr}(t x)$ ( $t$ : operator of trace class), then

$$
\begin{aligned}
\sup _{\|x\|_{\infty} \leq 1, x \in B p}|\tilde{\psi}(x)| & =\sup _{\|x\|_{\infty} \leq 1, x \in B}|\operatorname{Tr}(t x p)|=\sup _{\|x\|_{\infty} \leq 1, x \in B}|\operatorname{Tr}(p t x)|=\|p t\|_{1}=\operatorname{Tr}\left(\left(t^{*} p t\right)^{1 / 2}\right) \\
& =1=\|t\|_{1}=\operatorname{Tr}\left(\left(t^{*} t\right)^{1 / 2}\right) .
\end{aligned}
$$

On the other hand, $t^{*} p t \leqq t^{*} t$, so that $\left(t^{*} p t\right)^{1 / 2} \leqq\left(t^{*} t\right)^{1 / 2}$ [cf. 4]; hence by the above equality $\left(t^{*} p t\right)^{1 / 2}=\left(t^{*} t\right)^{1 / 2}, t^{*} p t=t^{*} t$ and $(I-p) t=0$. Therefore $\tilde{\psi}(x(I-p))=\operatorname{Tr}(t x(I-p))=\operatorname{Tr}((I-p) t x)=0$; hence $\psi(x)=\psi(x p)$ for all $x \in M$.

Analogously

$$
\begin{aligned}
\sup _{\|x\|_{\infty} \leq 1, x \in \in Q}|\widetilde{\psi}(x)| & =\sup _{\|x\|_{\infty} \leq 1, x \in B}|\operatorname{Tr}(t q x)|=\|t q\|_{1}=\left\|q t^{*}\right\|_{1}=\operatorname{Tr}\left(\left(t q t^{*}\right)^{1 / 2}\right)=1 \\
& =\operatorname{Tr}\left(\left(t^{*} t\right)^{1 / 2}\right)=\|t\|_{1}=\left\|t^{*}\right\|_{1}=\operatorname{Tr}\left(\left(t t^{*}\right)^{1 / 2}\right) ;
\end{aligned}
$$

hence $t q t^{*}=t t^{*}$ and so $(I-q) t^{*}=0, t(I-q)=0$. Therefore $\widetilde{\psi}((I-q) x)$ $=\operatorname{Tr}(t(I-q) x)=0$; hence $\psi(x)=\psi(q x)$ for all $x \varepsilon M$.
This completes the proof.
By the above lemma,

$$
\psi(x)=\psi(x p)=\psi\left(x w w^{*}\right)=\hat{W}\left(\hat{W}^{*} \psi\right)(x) \quad \text { for all } x \in M ;
$$

hence $\hat{W}\left(\hat{W}^{*} \psi\right)=\psi$. Taking $\hat{W}^{*} \psi$ as $\varphi$ and $\hat{W}$ as $\hat{V}$, the decomposition $\psi=\hat{V} \varphi=\hat{W}\left(\hat{W}^{*} \psi\right)$ satisfies the first part of Theorem.

Next we shall show the unicity. Suppose that $\psi$ can be written under $\psi=\hat{V}^{\prime} \varphi^{\prime}$, where $\varphi^{\prime} \geqq 0,\|\psi\|=\left\|\varphi^{\prime}\right\|$ and $\hat{V}^{\prime}$ is a partially isometric operator of $M$ having $S\left(\varphi^{\prime}\right)$ as the initial projection. Since $\psi\left(v^{*}\right)$ $=\psi\left(v^{\prime *}\right)=1, \psi$ is zero on $\left(I-v^{*} v\right) M$ and $\left(I-v^{\prime *} v^{\prime}\right) M$ by the same reason with Lemma; since $\left(I-v^{*} v\right) M+\left(I-v^{\prime *} v^{\prime}\right) M$ is a right ideal, its closure $E$ is also a right ideal; hence by the well-known theorem of $W^{*}$-algebras there is a projection $e$ of $M$ such that $E=e M$. Assume that $I-v^{*} v<e$, then $v^{*} v>I-e$. Then, we have

$$
1=\psi\left(v^{*}\right)=\psi\left((I-e) v^{*}\right)=\hat{V} \varphi\left((I-e) v^{*}\right)=\varphi\left((I-e) v^{*} v\right)=\varphi(I-e) .
$$

This contradicts that $v^{*} v$ is the support of $\varphi$; hence $I-e=v^{*} v$ and analogously $I-e=v^{\prime *} v^{\prime}$; hence the final projection of $v^{* *}$ is $S(\varphi)$, so that $S(\varphi) v^{*}=v^{*}$. On the other hand, by the same reason with Lemma $\psi$ is zero on $M\left(I-v v^{*}\right)$ and $M\left(I-v^{\prime} v^{\prime *}\right)$; hence its closure $E^{\prime}$ is a left ideal and so there is a projection $e^{\prime}$ of $M$ such that $E^{\prime}=M e^{\prime}$. Assume that $I-v v^{*}<e^{\prime}$, then $v v^{*}>I-e^{\prime}$ and moreover

$$
\psi\left(v^{*}\right)=\psi\left(v^{*}\left(I-e^{\prime}\right)\right)=\hat{V} \varphi\left(v^{*}\left(I-e^{\prime}\right)\right)=\varphi\left(v^{*}\left(I-e^{\prime}\right) v\right)=1
$$

On the other hand, since $I-e^{\prime}<v v^{*}, v^{*}\left(I-e^{\prime}\right) v<v^{*} v=S(\varphi)$, this is a contradiction; hence $e^{\prime}=I-v v^{*}$ and analogouly $e^{\prime}=I-v^{\prime} v^{*}$, so that $v v^{*}=v^{\prime} v^{\prime *}$. Then

$$
\varphi(S(\varphi))=1=\psi\left(v^{*}\right)=\hat{V} \hat{V}^{*} \psi\left(v^{*}\right)=\hat{V}^{*} \psi\left(v^{*} v\right)
$$

Since $S(\varphi) v^{\prime *} v S(\varphi)=v^{\prime *} v=a+i b$ ( $a, b$ self-adjoint), then $a \leqq S(\varphi)$; hence by the above equality $a=S(\varphi)$; therefore by $\left\|v^{*} v\right\|_{\infty} \leqq 1, b=0$, so that $v^{\prime *} v=S(\varphi)$. Therefore $v^{\prime} v^{\prime *} v=v v^{*} v=v=v^{\prime} S(\varphi)=v^{\prime} v^{*} v=v^{\prime} v^{*} v^{\prime}=v^{\prime}$.

Therefore

$$
\hat{V} \varphi(x)=\varphi(x v)=\varphi\left(x v^{\prime}\right)=\hat{V}^{\prime} \varphi^{\prime}(x)=\varphi^{\prime}\left(x v^{\prime}\right) \quad \text { for all } x \in M
$$

Hence

$$
\varphi\left(y v^{\prime *} v^{\prime}\right)=\varphi(y)=\varphi^{\prime}\left(y v^{*} v^{\prime}\right)=\varphi^{\prime}(y) \quad \text { for } y \geqq 0 \text { and } y \varepsilon S(\varphi) M S(\varphi)
$$

Since $\varphi$ and $\varphi^{\prime}$ have the same support $S(\varphi)$, the above equality implies $\varphi=\varphi^{\prime}$.

This completes the proof.

## References

[1] J. Dixmier: Formes linéaires sur un anneau d'opérateurs, Bull. Soc. Math. France, 9-39 (1953).
[2] R. Kadison: Isometries of operator algebras, Ann. Math., 54, 325-338 (1951).
[3] A. Grothendieck: Un résultat sur le dual d'une $C^{*}$-algèbre, Jour. Math., 36 (2), 97-108 (1957).
[4] S. Sakai: The absolute value of $W^{*}$-algebras of finite type, Tohoku Math. J., (8), 70-85.

